CHE 173
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1. Identify each of the following compounds as aromatic, anti-aromatic, or not aromatic
and explain your answer for each. (10 pts)
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(a)_This compound is NOT aromatic becauseit is not fully conjugated.

(b)_This compound is NOT aromatic because it is not planar.

(c)_This compound is anti-aromatic with 4n it electrons.

(d)_This compound is anti-aromatic with 4n x electrons.

(e)_This compound is aromatic; it's cyclic, fully conjugated, planar and has 4n +2
electrons.

2. Givean I[UPAC or common name for each of the following compounds. (10 pts)
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(2)_o-xylene or 1,2-dimethylbenzene.

(b)_phenol or benzenal.

(c)_2-bromo-3-ethyltoluene.

(d)_anthracene.

(e)_2,4,6-trinitrotoluene (or TNT, dynamite!)



3. Draw the structure for each of the compounds named below. (10 pts)
(@) p-dichlorobenzene  (c) naphthalene
(b) m-nitrophenal (d) 4-nitrobenzoic acid (e) o-bromoanisole
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4. Show the organic product(s) that would form from the following reactions. (10 pts)
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5. Show a detailed mechanism for the reaction shown below. (5 pts)
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6. Show how you could you carry out the following multi-step synthesis. (5 pts)
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